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Iкз 1.1 = 220/(0,0065 + 0,11 + 0,05 + 0,015) = 220/0,18 = 1212 А. Время сраб. < 5 сек

Iкз 1.2 = 220/(0,18 + 0,61) = 220/0,79 = 278 А. Время сраб. 0,01 сек.

Iкз 1.3 = 220/(0,0065 + 0,11 + 0,09 + 2,18 + 0,015) = 220/2,4 = 92 А. Время сраб. 0,01 сек.

Zтр.ф. = 0,0065 Ом

ТМ-1000 кВА

400
160

ААБ2л 4х150, L=290м.
Zуд.п= 0,39 Ом/км
Zуч.ф-0 = 0,11 Ом

ВРУ1 ЩЭ1.2

Zуд.п= 1,128 Ом/км
Zуч.ф-0 = 0,05Ом

Zуд.п= 17,46 Ом/км
Zуч.ф-0 = 0,61 Ом

ВВГ 3х2,5, L = 35м.
ВА47-29,
С16, 2Р

АВВГ 4х95+1х50, L = 45м.
К.1.2

Zуд.п= 29,0 Ом/км
Zуч.ф-0 = 2,18 Ом

ВВГ 3х1,5, L = 75м.
ВА 47-29,
2Р, В10

гр.4
К.1.3

К.1.1

250
125

Zуд.п= 17,46 Ом/км
Zуч.ф-0 = 0,09 Ом

ВВГ 3х2,5, L = 5м.

гр.4к

МОП

ТП-37*

Iкз 2.1 = 220/(0,0065 + 0,17 + 0,33 + 0,015) = 220/0,52 = 422А.  Время сраб. 0,01 сек

Iкз 2.2 = 220/(0,52 + 1,02) = 220/1,54 = 142А.  Время сраб. 0,01 сек

Iкз 2.3 = 220/(0,52 + 0,44) = 220/0,96 = 229А.  Время сраб. 0,01 сек

Iкз 2.4 = 220/(0,0065 + 0,17 + 0,05 + 0,015) = 220/0,38 = 584А.  Время сраб. 0,01 сек

Iкз 2.5 = 220/(0,38 + 1,02) = 220/1,4 = 157А.  Время сраб. 0,01 сек

Iкз 2.6 = 220/(0,38 + 0,25) = 220/0,63 = 350А.  Время сраб. 0,01 сек

Iкз 2.7 = 220/(0,0065 + 0,17 + 0,27 + 0,015) = 220/0,46 = 477А.  Время сраб. 0,01 сек

ВА47-29,
С16, 2Р

Zтр.ф. = 0,0065 Ом

ТМ-1000 кВА

250
80

ААБ2л 4х95, l=290м.
Zуд.п= 0,6 Ом/км
Zуч.ф-0 = 0,17 Ом

ВРУ2ТП-37*

Zуд.п= 29,0 Ом/км
Zуч.ф-0 = 1,02 Ом

ВВГ 3х1,5, L = 35м.
ВА 47-29,
2Р, В10

гр.1
К.2.2

Zуд.п= 10,94 Ом/км
Zуч.ф-0 = 0,33 Ом

ВВГ 5х4, L = 30м.
ЩС1

ВА47-29,
С25, 4Р

К.2.1

Zуд.п= 17,46 Ом/км
Zуч.ф-0 = 0,44 Ом

ВВГ 3х2,5, L = 25м.
АВДТ32,

30 мА,С16
гр.4

К.2.3

Zуд.п= 29,0 Ом/км
Zуч.ф-0 = 1,02 Ом

ВВГ 3х1,5, L = 35м.
ВА 47-29,

2Р, В6
гр.2а

К.2.5

Zуд.п= 7,28 Ом/км
Zуч.ф-0 = 0,05 Ом

ВВГ 5х6, L = 7м.
АВР

ВА47-29,
D32, 4Р

К.2.4

Zуд.п= 7,28 Ом/км
Zуч.ф-0 = 0,25 Ом

ВВГ 5х6, L = 35м. М-5
К.2.6

ВА 47-29,
4Р, С32

Zуд.п= 10,94 Ом/км
Zуч.ф-0 = 0,27 Ом

ВВГ 5х4, L = 25м.
ИТП

ВА47-29,
D25, 4Р

К.2.7


